
Assembly Instructions

ESS-1101

Attention:Do not tighten the screws until all of them are in right positions

1of4

A x2
M6X12

B x26
M6X15

C x6

M6X30

D x2
M6X45

E x4

F x1

1

2

3

4

5

6

7

8

9

10

11

12

13

14



1 

2

2of4

E x4

D x2

C x6

3

4

5

1

D

E

E

C

E

E

E

B x8

6

14

D

B

B

C

C

C

C

C



3

4

3of4

B x4

A x2

B x10

212

12

13

7

8

9

10

11

A

A

B

Note:
These are extra
holes to place
headphone or
drink holder
where you
would like.

B

B
B

B

B

B

Note:    Please keep the
iron frame perpendicular
to the back of the board 



5

4of4

B x4

1

2

B

B


